Quiz 3




Answer the following questions:

1. For fault A, in the figure below, what principle allows you to determine its relative age with respect to the stratigraphic sequence?
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A) principle of superposition

B) principle of faunal succession 

C) principle of original horizontality

D) principle of cross-cutting relationships
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For questions 2, 3, 4 and 5 refer to the diagram above

2. For the illustration above, what would be the change in atomic number from parent element to daughter element as a result of alpha emission?
A) +1

B) -1

C) +2

D) -2
E) +4

3. For the illustration above, what would be the change in atomic number from parent element to daughter element as a result of beta decay?
A) +1
B) -1

C) +2

D) -2

E) +4

4. For the illustration above, what would be the change in atomic mass from parent element to daughter element as a result of alpha emission?
A) +4

B) - 4
C) +1

D) -1

E) There will be no change in atomic mass.

5. For the illustration above, what would be the change in atomic mass from parent element to daughter element as a result of beta decay?
A) +1

A) +4

B) - 4

C) +1

D) -1

E) There will be no change in atomic mass.
For questions 6 and 7 refer to the diagram below:
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6. For the block diagram above, which of the following statements is(are) true?
A) The igneous intrusion labeled B is older than Unit 2.

B) The igneous intrusion labeled B is younger than Unit 2.

C) The igneous intrusion labeled B is younger than the tilted sequence 1.

D) Both A and C are true statements.

E) Both B and C are true statements.
7. What stratigraphic principle allowed you to answer question 6?

A) principle of superposition

B) principle of faunal succession 

C) principle of original horizontality

D) principle of cross-cutting relationships
True/False
8. Numerical age is the age of a rock or geological feature in years. T
9.  An unconformity is a gap in the stratigraphic sequence. T
10. In the photo of the stratigraphic sequence of the Grand Canyon, below, tilting of the Grand Canyon Super Group occurred after deposition of the Tapeats Sandstone. F
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Fill-in-the-Blank

11.  A(n) ______is a gap in the rock record across which there is a significant amount of missing time. UNCONFORMITY
12. A(n) ______is a surface of erosion that separates younger strata above from older igneous or metamorphic rocks below. NONCONFORMITY
13. An isotope that is undergoing radioactive decay is called a _____, and an isotope that forms as a result of radioactive decay is called a _____. PARENT, DAUGHTER
Short Essay

14.For the figure below what types of unconformities are represented by the contacts marked as 1, 2 and 3.?
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1) NONCONFORMITY

2) ANGULAR UNCONFORMITY

3) DISCONFORMITY
15. Describe the process of alpha decay.  How does the daughter element compare to the parent with respect to atomic number and mass?
An alpha particle is composed of 2 protons and 2 neutrons, consequently the emission of an alpha particle means that the mass number of the isotope is reduced by 4 and the atomic number is decreased by 2.
16. In beta decay an electron is ejected from the nucleus of an atom.  What changes the atomic mass, atomic number or both?
The mass number remains unchanged because electrons have practically no mass. However, because the electron has come from a neutron, the nucleus contains one more proton than before. Therefore, the atomic number increases by 1.
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